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Which district receives the vertical sun rays in the
month of June?

(A) Pali (B) laipur

(C) Bhilwara (D) Banswara

frg frel o o A H g A fpeel @l ) s
usar & 7 -
(A)

(C) et

‘Suvarnagiri' refers to which fort of Rajasthan?

(B) sEgR
(D) wrEarET

(Ay Abu (B) Jaisalmer
(C) lJalore (D) Gagron
ety Teram & fea 3 & deftfa s 7
(A) &g (B) SrE@EET
(C) R | (D) TR
zre? & A md IS Sret W see —
(A) i (B) =t
(C) e (D) e

Which of the following is not a non-conventional
source of energy? ,
(A) Wind energy (B) Biomass energy
(C) Tidal energy (D) Hydropower
Frafafan & @ o9 w1 Fut & A7 e g

TR 4 |
(A) TET Gl (B) SR
(C) &R St (D) vt

FUTET TEAIEH B T G- st e o w17

(A) Tyagmg e (B) «e¥ By

(C) Bl werw (D) el foerg

The 'Arjun' tree is mainly found in district.
(A) IJalore (B) Jaisalmer

(C) Jhalawar (D) Jaipur

ST W IF TIE T W foaer & e #
(A) STEIR (B) wrEe

(C) =g (D) =Yg

The oldest (First) National Park in Rajasthan is
(A) Keoladeo (B) Sariska
(C) Ranthambore (D) Mukundara Hills

Wﬂﬁiwﬁwmw‘r)ﬂﬁqm%j

(A) Hemed (B) wfwem

(C) iR (D) g Rew
dreded TE’ H FOTE W g & P

(A) @@ ®) dEw™
(C) T @ (D) wew ™

_ Panna Dhai saved the life of :
(A) Rana Sanga (B) Raval Ratan Singh
(C) Rana Udai Singh (D) Rana Raj Singh

T % Sra 1 ST vl
©(A) Tom =W (B). Traw Tl
(C) T JEaRiE (D) <Tom TwiRiE
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Maharaja Man Singh I got the art. of Meenakari in
Jaipur from .
(A} China

{B) Balochistan

(C) Lahore (D) Bengal

T # HATSR B B TR qAE 99 BT
g @ g

(A) = (B) wehre™

(C) @ER (D) s

On which part of the body is Chuni and Bari worn
in Rajasthan?

(A) Ear (B) Feet

(C) Nose (D) Head -~

TSI ¥ A 67T I 970X & Rew o 9¥ wen
iR
(A) =™
(©) ==

(B) dfa
(D) Tt

The male life expectancy at birth in 2013-17 in
Rajasthan was -

(A) 66.8 years (B) 66.3 years

(C) 70.9 years (D) 68.5 years

TSR F 2013-17 & 59 U YO Sa Jensn o -

(A) 66.8 a9 (B) 66.3 a9

(C) 70.9 =9 (D) 68.5 a9

T dyEr T ST Sury i s i fre

AT HY 7

(A) e wEm (B) ol gwEE

(C) wer e9EE - (D) TES Uy

The fort that has trenches all around it is called
fort.

(A) Eran (B) Parikh

(C) Paridhi (D) Dhanvan

T8 g e Il oiR wrg o ¥ as g

HEAT T , ‘ _ :

(A) T (B) uit@

(C) wiftfy (D) g

Madaar Dam was built on river.

(A) Sabarmati (B) Berach

(C) Som (D) Mabhi

IR &Y A& T ST Ty 41l

(A) QrEREar (B) sgd

(C) @m (D) WY

Alibakshi Khayal is the prevalent folk drama of which
region of Rajasthan?

(A) Kota (B) Chittor

(C) Alwar (D) Bharatpur

SRATSIET ST USRI & %I & 8 ¥ yrafeg wies e
SErE? ;

(A) @ B) o<

(C) o (D) wagT
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Which soil is fertile due to presence of nitrate in
Rajasthan? '

(A) Red-sandy (B) Brown-sandy

(C) Red-yellow (D) Red-loamy

eI H TAELE W SuRUfy & e B W e

g B 7

(A) TR (B) -
(C) s (D) wrE-—-sm

Which State sent military help to Kota Maharao
during the freedom struggle of 18577

(A) Bundi - (B) Karauli

(C) Jhalawar (D) Jaipur

1857 o Taaeal ST & W i FETUE B qera
& fog fee oo ¥ AP emar S ?

() ¥ (B) @l

(C) =rmarg (D) srge

U S T g Tl ¥ -
(A) @1 - FwmErE (B) o9 - %
(C) YT — giEarst (D) TSHE — HErst

Which organisation established Putri Pathshala and
Kabir Pathshala for the education of girls and
untouchables in Bikaner region?

(A) Sarvahitkarini Sabha

(B) Bikaner Prajamandal

(C) Bikaner Rajya Praja Parishad

(D) Maheshwari Yuva Mandal

ST A & reen oK owg @ e g P e
T B UrSATT SiT WA qraener wift &1 ?

(A) vzl g

(B) dHER TeITHIEH

(C) s " o ufiwg

(D) wsadl gar 7vs|

Delhi-Vadodara Greenfield Expressway does not pass
through . district.

(A) Alwar (B) Dausa

(C) lJaipur (D) Kota :
g Nds weavay . frw @ 5l
ST §1 ; v

(A) SR (B) @

(C) EgT (D) e

Which one of the following district has the lowest
S.T. sex ratio according to 2011 census?

(A) Karauli (B) Jaisalmer

(C) Hanumangarh (D) Bikaner
Foifesa & ¥ @A Raw % 2011 ) SETOET % SER
.. & =gEaw e R ¥ 2

(B) wrEeHT

(D) R

(©) zgATTTe
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Which of the following ceremony is related 1o
marriage? '

(A) - Adoption (B) Jadula

(C) Panghat Poojan (D) Tika

P % 9 fopg e @ dey Raw 9 ¥ e
(A) =i & (B) wrgEm

(C) wmEe o (D) Zrar

Where is Punchi or Ponch jewellery worn?
(A) Neck (B) Nose

(C) Wrist (D) Leg .
T (qurdy) T Y SN BE UET WIET ¥ 7
(A) T (B) T

(C) e (D) ¥

At which place in Rajasthan Tree Festival is
celebrated on 12t September every year?

(A) Mandore (B) Phalodi

(Cy Khejadli (D) Bilara

TS o fom T o uf o 12 fade @ ga weke
mRTSE s
(A) #ER

(C) Y

B) tﬁﬁ—cﬁ
(D) Rt

Which of the following palace is also known as
Chbhitar Palace?

(A) Ummaid Bhawan Palace, Jodhpur

(B) Gajner Palace, Bikaner

(C) Rambagh Palace, Jaipur

(D) Deeg Palace, Bharatpur .

e % ¥ B | e s Tag & am g ol s
S ¥ ?

(A) 9T 999 Y, SHEYT

(B) TR e, deee

Which one of the following is not related to
Kalibangan civilization?

(A) Mud brick's houses

(B) Tools of iron

(C) Fortification

(D) Fire altars

=1 o @ BF |1 Uw e gy o gt 9 ¥ e

(A) Pl £ %

(B) % & SUB

(C) giifeco

(D) siftwges

o aaEs’ U T ¥ -

(A) weTaR woE SRy (B) e S
(C) W sy - (D) ey fpam
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What is common in Jhadol (Udaipur), Kurada
(Nagaure), Sabania (Bikaner) and Nandlaipura
{Jaipur)? '
(A) Store of copper implements

(B) Discovery of minor stone implements

(C) Centre of stone age o

(D) Centre of neolithic culture
FEE (STAIY), FUST (AFR), grafmn (FEE),
ARAYY (SAYR) # O € P
(A) T IUHTON & AU

(B) g 9T IUHTU B WS

(C) UTSTOT T BT B £
(D) TSI HRA GBI F HE .

Who became the ruler of Marwar on 5t June, 1531
after the death of Rao Ganga?

(A) Viramdev (B) Sataldev

(C) Jaswant Singh (D) Maldeo -

T T B g % §E, 5 99 1531 . ﬁtmﬁw
STE DI T 7
(A) dreae
(C) wEarie

(B) wrewse
(D) #EeT

Which of the followmg is not a river of Inland
drainage in Rajasthan? )
(A) Kantali (B) Sabi ,
(C) Masurdi (D) lJakham f

Fr o ¥ B W TERAT H ST SIATE zﬁl "ﬁré‘r

(B) =&
(D) ey

Head of the Garasiya iribe is known as -
(A) Sahrol (B) Sahlot

(C)  Gameti (D) Bhagat
TaRyar St @1 giea see § -
(A) w&U (B) wed

(C) T (D) wa

Wﬁm%mwﬁsﬁﬁm%%?
(A) TSR Srafrn

(B) faoraam ur

(C) Hertare 9l

(D) THUEE TSYRIfed

According to the Prashasnik Prativedan 2021-22 by
the Department of Forest, Rajasthan, the number of
wildlife sanctuaries in the state are -

T4 fawm, wmmarﬁqsmﬁmuﬁ‘fémzozl 22
¥ TR TS § G aeawia STy &% -

(A) 23 (B) 25

(C)y 27 (D) 29
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TETE B3 O ge A A & -
(A) SIER (B) &t
(C) W (D) Hw@Yx

Which ruler of Jaipur built the Sheetla Mata Temple
in Chaksu?

(A) Maharaja Madho Singh

(B) Sawai Jai Singh

(C) Maharaja Man Singh

(D) Maharaja Ishwari Singh

YR 3% e s ¥ ey ¥ ST ST A aeer ?
(A) werTeT weRiE

(B) warg SR

(C) werreT HrHRie

(D) wETreT syt

Which oilseed crop increases the nitrogen level in the
soil like pulses?
(A) Groundnut (B) Mustard '
(C) Til (D) Castor

B O el waw aml B guH g ¥ A2 Y
] eI ® 7

(A) Hroser (B) wx&l

(C) fom (D) s}

The tree from which 'Kattha' is extracted -

(A) Khejari (B) Khair
(C) Neem (D) Salar

g gu fred & wen P 9w g, € -
(A) TwEg! (B) &%

(C) - (D) 9T

Where is the Kaila Devi Temple situated?

(A) Dhaulpur (B) Kota
(C) Alwar (D) Karauli
3 Y T AfET wEl Red ¥ 7

(A) 9gT (B) @I
(C) oET (D) &

The pair of districts having Red and Yellow Soils, is-
(A) Ajmer - Sirohi (B) Alwar - Bharatpur
(C) Pali - Jodhpur (D) Kota - Bundi

5 foen g S8t @I @ el 981 01 SR @ -
(A) et - Ol (B) t@El — |Iayl
(C) urdr — SEgY (D) @ler - g

Which one of the following scheme is not associated
with Social Justice and Empowerment department of
Government of Rajasthan?

(A) Shubh Shakti Yojana

(B) Navjeevan Yojana

(C) Swadhar Grah Yojana

(D) Palanhar Yojana

frafafas & & @ 9 TE ST TN BT 5
g e ud s e @ walag @ ¥ 7
(A) AR T

(B) wersirEd gier

(C) w@ur e s

(D) UrEETT STl
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Under whose chairmanship the Review Committee
was established in 19777

(A) Dr Ishwar Bhai Patel

(B) Dr. P. D. Shukla

(C) Dr. Shramannarayan

(D) Dr. Abdul Kalam

1977 % gdtersr gl @ e fewe sremerar §
T
(A) =l 39t aE e
(B) sf. 4L 1. sy
(C) =f. g
(D) si. aIgw &

According to RTE Act, admisslion of children to a
particular class has been proposed to be on the
basis of -

(A) Age of the child

(B) The ability of the child

(C) Education of the parents

(D) Socio-Economic status of the child

Tren @ stfteRe ifafr & orER uwm RSy wa %
FHaT gl W AT fhucs ST U v fpa
Ty &7

(A) T B IY

(B) <= &l &war

(C) wran-Tirar &1 faren

(D) = &I arEnfee—anties Rl

Mukhyamantri Baal Gopal Yojana is related to which
one of the following?

(A) Free uniform distribution

(B) Milk distribution in school

(C) Vaccination

(D) Free pre-elementary education

Heasl 9 e e Pt § @ e
Hefua & 7

(A) g ot Rero

(B) @@ o g9 o

(C) ErmresTer

(D) Ty wrehes favan

Who can verify the enrollment of the children before
making the final reimbursement of the primary
school?

(A) Principal

(B) Education Minister of the State

(C) Block Elementary Education Officer

(D) Head Master of the School

wrafhes feemeal @ sifem ufoqld &7 4 vew swat &
BT BT GETTT B BT & ?

(A) wrEd

(B) g & fem =

(C) w@vs griives frem arfuresriy

(D) frmme™ & ¥ AR

P31 @
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In Getober. 2022 an MOU was signed between Coal
India and Rajasthan Vidyut Utpadan Nigam for
setting up a solar plant at . )
(A) Pugal, Bikaner (B) Phalodl Jodhpux
(C) Nokh, Jaisalmer (D) Sitapura, Jaipur

. FEgEy, 2022 7w W wd v foga saea

e e ¥ e U w4 Wi H %
. TR o s wow o ewma e

(A) T, SR (B) W, SYyY

(C) e, e (D) g, sage

‘Central Cattle Breeding Farm is situated at

HA) Jobner (B) Bharatpur
(C) Suratgarh (D) Bassi
BRI UYE Yo e ¥ e ¥y
. (A) e (B) #@yx
C) T (D) W=

a8

‘Apurvi Chandela is famous player of

~(C) - Shot put

(A) Rifle shooting (B) Athletics

(D) Badminten

%! ufrg e ¥
(A) T ggfe (B) werifemy
O e (D) Tefiew
How much assistance is provided under

. Mukhyamantri Kanyadan Yojana?

:,,;‘g@ﬁmmaaﬁw%mﬁmﬂwwaﬁ
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{A) T 1,00,000

ST E?
. (B) % 65,000

(€) ¥ 31,000 (D) ¥ 21,000

:Under Indira Gandhi Shahri Rojgar Guarantee
. Scheme, age limit criteria for the beneficiary is -
v {A) 18 to 50 years B)
- (C) 18 10 60 years

16 to 55 years
(D) 1810 62 years

gRy Y gredy TR Y ger % ded wret @y

Oy e T R § -
C(A) 18E50Ed  (B) 16F 55 e
(C) 18 60 a9 (D) 18 ¥ 62 a9

517

“The most important contribution of ICT in the field
©.of education is

:+«(A) easy access to teachmg
«~_(B) easy access to workloads

Q). easy access to schools

(D) easy access to learning

Rt % & ¥ @S 1 TR HEwqY QEE ¥ -
(A) Tareror oo wT@ UgG

(B) &AM &% 9Td U5

(C) il T WY e

(D) fren @& 9X@ Uga
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(A) EEET

In which year's budget announcement, it was
proposed to convert government schools into

Mahatma Gandhi Government Schools (English

Medium) in villages and towns with a population of
more than 50007 .

(A) Year 2020-21 (B) Year 2018-19

(C)  Year 2019-20 (D) Year 2021-22

v = & T Biwen & 5000 ¥ St o) A Al
A e § Ty WGl Bl HETe W W el
(a9t wregw) ¥ gEES By @ Ty oan?

(A) a9 2020-21 (B) =¥ 2018-19

(C) = 2019-20 (D) =¥ 202122

Shri Madhukar Gupta is working on the post of -

Chief Secretary, Government of Rajasthan
Chairman of State Finance Commission,
Rajasthan '

(C) State Information Commlssxoner Rajasthan
(D) State Election Commissioner, Rajasthan

oy TEHT AT B UE ¥

Gy
(B)

S (A 3’@1{1&4 RS EIERSECIE

(B) m%{a%m%@rwa{ ST
(C) T Y ST, T

D)y U™ BEIER HTYERT, ST

In which district was the Abhaneri Festival organised?
(A) Ajmer (B) Chittorgarh

(C) Dausa - (D) Alwar

‘sl s’ few R ¥ el fear i an?
(B) e

(C) 2 (D) e

As per the Rajasthan RTE Rule 2011, réimbursement
will be made twice a year directly to the

(A) Local Authority

(B) Principal

(C) School

~ (D) Block Education Officer

g™ RTE Fraw 2011 & oFET, gi%}qﬁasf%ra
ElEESIU] Y B T

(A) g et

(B) wrmd

(O MEE L] 4

(D) wve faren sfyerdr

Which Article of the Indian Constitution states that
the Governor of a State shall be appointed by the
President by warrant? -

R giger % feg e ¥ wa T ¥ e o= %
T @l Tgafe e st gra frge s ?
(A) 157 (B) 155

(C) 153 (D) -163

@

. o
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The "Gurudwara Buddha Johad' is Tocated in the
district of B

{A) Bikaner (B} Sri Ganganagar

(C) Jodhpur (D) Ajmer
TEE GE SES  wdfam
(A) FrREFT (B) i Y
(C) wEge - D) AT
‘Ardeotis nigriceps is a -

(A) Reptile (B) Mammal
(C) Bird (D) Tree
TR TEARW ¥ - ,

(A) gy (B) wwuTdl

(C) uslr (D) &

First cotton mill of Rajasthan was "The Krishna Mill% E
‘Limited', which was established in -
“(A) Shahpura

(B) Kishangarh

(C) Bhilwara (D) Beawar

EiE R R R GRS R ‘F@Wﬁwﬁﬁ&@g
Y, T WA T oy -

(A) smEgu ¥ (B) Tpermig ®

(C) et o (D) =mER H

Qualification for appointment and terms and
‘conditions of service of teachers is mentioned under
‘ of RTE. '
(A) - Section 22
{C) Section 24

(B) Section 23
(D) Section 25

RTE ¥ Rieret o Frglherer & o argand, emand E{@t‘cﬂ

gt fraifa & - _
(A). gra 22 % (B) sy 23 ¥
(C) amr 24 ¥ (D) gra 25§

In which city was the world sufi music festival Jahan-
E-Khusrau held in November, 20227
(A) Alwar (B) Jaipur
(€) Jodhpur (D) Udaipur
fo5er oTex ¥ oo Y e HReaw SEF-T-gEi! Bl
RIS ey, 2022 ¥ fean e ? ,
(B) syt
(D) SR

(A) erTEr

(© wirgR

When was the National Institute of Adut Eduramon
established?

(A) 1990 (B) 1991
(C) 1993 (D) 1992

e sirg e der (NIAE) &1 @I &9 g8 7
(A) 1990 ¥ (B) 1991 %

(€C) 1993 % - (D) 1992 %
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(PPR-CP) is -

(A) a vaccination programme for animals

(B) a vaccination programme for the prevention of
genetic disease occuring in children

(C) a UNESCO programme to save children from
malnutrition

(D) an integrated weed management programme

I - 3 - Afefew whrrd Pam S

(Grdreme—dd) ¥ - ‘

(A) uyel & fg Do wrima

(B) weml ¥ aireifes S o Aeerm ¥g St
e | |

(C) =edl &Y HUNY § T TG T B BB

(D) THiHT AR TS Hramy

What is the full form of ECCE according to
NEP 20207

(A) Early Childhood Care and Education
(B) Educational Classes for Childhood Evaluation”
(C) Educational Care for Childhood Evaluation
(D) Early Care for Childhood Education

NEP 2020 % &€ ECCE & i &9 &y & ?
(A) wrifyes Srearawen g ofre fe

(B) wreaTeRyl % qediesd & R Siftres wemd

(C) SR % e & g s T
(D) srereRen & Bran & fow urifve Tewe

On which date, was the New Rural Tourism Policy
of Rajasthan implemented? -

(A) 10% November, 2022

(B) 4% September, 2022

(C) 24t November, 2022

(D) 12%h December, 2022

(A) 10 werT, 2022
(B) 4 faaw, 2022
(C) 24 Waw, 2022
(D) 12 femm, 2022

For what value of k the following system of equation
have unique solution?

kéﬁmqﬁ%&%{qﬁwﬁﬁaﬁn THIHTer e 51 T
sifEa B & 7

2x+‘3y+5=G
kx+06y=7
A) k=4
© k 2 —4

® k #4
D k= +4

67

|68

69

76

71

7z

@ K

Factors of the polynomial 4+/3x% +5x—2-/3 are -
U 4«[*{ +5x-23 & TorTETs ¥ -

(&) (Br-2)4x+3)

(B) (@x+2)(4}:—~f§)

(© (Br-24x--)

D) 2Bx—3)2x+2)

When a sum of money is put on loan for one and half
years at a rate of 20%, the difference between the
interest is ¥ 264 when interest is respectively
compounded annually and half vearly What is the
sum?

maﬁiwzo%a@f%@ra&%ﬁm'&m%mm%
T ST Y B NS qUT o aiies S 9T F 264
BT ST ST B U fea & 7

(A) T 24,000 (B) ¥22,000

(C) 20,000 (D) T 18,000

Factors of (16— x6+2x3 ~ %) are -
(16-x° +2x’y3 35y % orETE ¥ -
A -+ - +4)
B) -y +a - -9
© -y +HF+y7+4
@) P +y’ +)P+3° -4

Mode of the data 15, 14, 19,.20, 14, 15, 16, 14, 15,
18, 14, 19, 15, 17, 15 is -

sfiest 15, 14, 19, 20, 14, 15, 16, 14, 15, 18, 14, 19,
15,17, 15 %1 556 & — :
(A) 14

(C) 16

(B) 15
(D) 17

The circumference of the base of 10 m high comcai
tent is 44 meter. What is the area of the canvas used
in making the tent?

10 927 S siTamsi ¥T F e @ uidy 44%
BT B IR N TR B o S w7
(A) 246.2 m? (=t drew)

(B) 254.6 m? (af #rey)

(C) 268.5 m? (e Hrex)

(D) 272.8 m? (7t Hx)

Fraction representatioﬁ of the 0.1254 is -

0.1254 a1 for= foremor ¥ -

69 69

(A) 355 (B) 350
1242 12545

© 653 ) To0000
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73 The square-root of a natural number is n times of its
cubic root. That number is -

T TG ST BT ANE S % A W n O E, T

Eical T -
(A n* (B) nﬁ
(C) o® (D) nl2

74 A two digit number is four times the sum of its digits.
If 18 is"added to the number, the digits reverse.

The number is -

ﬁm@wmmm%m%ww%t

a&;m@aﬂﬁf 8 e il S &) it STUR W 999 W

(B) 36
(D) 48

75 ve some apples. If A gives 2 apples to B,

then A Witithave apples half of B. If B gives 10 apples
to A then thezr number of apples will interchange.
How mady apples does both A and B have?

AawB TH T AT BIOR A, BRI 2 AT MR Al
anely 9 & oIl ¥1afe B, A ® 10 99
BT Tt Y T S W aEw el $1 A T
B % qra g Rl A9 ¥ 7

(A) 260 (B) 36

© 42 (D) 48

76  Two numbers are in the ratio of 2 : 3. If each number

is increg é by 4 the ratio becomes of 5 7 ‘"The sum

of both ‘Qu\rknbers is -

3% o & ¥ af vaw e 4 @ 9o
R SR S ;7 8 v ¥ A el w -
(B) 40

(D) 24

77 Two ad}ax;em angles of a parallelogram are (3x —4)°
and (3;6»“ 10)° then the smaller angle of the
paralleogram is -

TS G GgHE & &1 STae BT (3x - 4)° GRS
(3x + 10)° & A T TGS BT BT BT & —
(A) 83° (B) 89°

€y 97° (D) 106°

P3] @

7% Read the histogram and find the number of students
whose pocket allowances are less than ¥ 40.
STt o o ofre o ferniie @ weat S U e
I wd W T 40§ F9 ¢

No. of Students
)
<

foenfit & wem

20
10 -+
20 40 60 80 100
Pocket Bxpenses (in 3)
S wd € W)
(A) 20 (B) 10
(€ 30 (DY 40

79  Three numbers are in the ratio 2 : 3 : 4. If the sum of
their cubes is 21384, then the largest number is -
e wend 213 4 % TgmE ¥ €1 TiE I Tl w1 A
21384 &, < Ty T W@ ¥ -
(A) 36 (B) 24
(C) 18 (DY 12

80 A student got 32% marks out of 300 in science
subjects. How much percent should he score in
literature of 200 marks to make his total marks 50%?

ug et A frsrr foee & 300 € 32% & 9

Ry Tifey F T 200 i F ¥ Rea vl wrw H L

B e 3 G 50% of T
(A) 77% (B) 72%
(C) 78% (D) 82%

81 If n is a natural number, then (92" — 42") is always
divisible by - .
(A) Only 4 (B) Only
(C) Only 5 (D) Sand 13
Tf% n UH Wipd WE ¥, a (927 - 420) THI 7" ¥ —
(A) %a@ 4 9 (B) ®aw 9F
(C) Haa 59 (D) S@ur 13%

11
82 Decimal expansion of (”2“'*’5) is -

11
( }wa&wm%—

e
(A) 0.23 (B) 0.55
(C) 0.83 . (D) 083

8 [ Contd

o,

it

83 If x:y=23:2, then the ratic of

2 2 3 . N
2x7 +3y% 357 —2y% is equal to -

e x:y=3:2, 99 sud

2x2 +3p7 1 3x% —2y? TR E -
(A) 6:5 (B) 30:19
€y 5:3 (D) 27:19

84 If the sum of the zeros of the polynomial

af ague (foc® —3x — 6/) 3 s 1 A I o
FIUIC T Ak B AT B ~
N | i
(A) 5 (B)‘ 5
(<) 2 : (D) 2

I
85 3 of 3842 + 15% of x = 2449 then the value of x is-

| A
C3R42 T = F x BT 15% = 2449 & x W HH ¥ —

2
(A) 3520 (B) 3250
(C) 3340 (D) 3540
‘= 86 In the adjoining figure AC = AE, AB = AD and
LBAD = LEAC, then BC is -
zgrid @ fast & AC = AE, AB = AD @
ZBAD = ZEAC, s BC % —
A E

/ .

/ o _
B . D C
(A) CE (B) DC+CE
(C) DE (D) CF+FE

3] (@ 9

87

88

89

90

Which one of the following is not a real number?

Frafefen § 9 B0 O v alis dem g b0

1

B) Ny

s

(1&;:} T

12
C ol i -
(©) (?J ® V3

The‘price of diamond is directly proportional to
squarerof its weight. A diamond broke into four pieces
in ffiejratio 1:2:3 : 4. The broken pisces got sold
in §-2,10,000 less. What was the actual price of
ma{nond7

2B, b Tuh T & F T ¥ d
AT 1221324 F o ¥ 22 T T 3 T
),000 &9 H = T FATEY AN BT Aies o

? 3,00,000
). ? 30,000

B) ¥ 3,30,000
(D) ¥ 2,40,000

The ameof«jsm/nﬂmﬂjw ﬁ is
1144194420+ 30 T A

. (B) 4
D) 5

In *tje adjoining figure, PS is the bisector of
LQPR and PT L QR and £0Q> ZR, then /TPS
IS Sond

9 T s H, LQPR a1 1€l PS & @ PT LQR
T ZQ> /R @, LTPS ¥ -

o ,
0 —«;(ZQ ~ LR}

B el

l
(D) 5(£Q+2R)
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92

93

94

C© 19

95

1P3 |

(© T

3(13.608)? - (13.392)% =
' (B) 0.6
(D) 2.6

(A) 0.06
(©) 1.8

The fractional representation of 45 minutes w.r.t. one
day is -

' 1%%@&45WWWW%~

1
(A) 37

® 7

1
© 7 ® 5

The probability that a number selected at random
from the number 21, 22, 23, ...., 40 is a prime
number is -

g 21, 22, 23, ...,
T B U U AN T o i Wit & —

1
(A) 3

i
5

The mean of first seven observations is 18 and mean
of last seven observations is 20. Find the seventh

observation if mean of all the 13 observations is 19.

werT T Jeol b1 7e 18 ¥ auT Staw |ra Ha @t
mwzo%:mﬁmmﬁfﬁqaﬁ:wﬂ 13 Srerori <1

g 19 &
(A) 15 B) 17

D) 21

The present value of a laptop is ¥ 6561. If its value
decreases every year by 10%, then its value before
3 years was -

U AU B adHH e T 6561 ¥ ufs gEs @ o
wierar 10% 1 &18 #re & ot 3 d o g g o -

(A) T 10,000 (B) T 8,500
(C) 9,000 (D) T 8,000

@

40 ¥ ¥ us gEar Ughed w9 ¥

96

97

98

99

10

Alcoholic fermentation which occurs in yeast has
following redction :

Pyruvic acid A 5 Acetaldehyde

B ., Ethyl
A and B enzymes involved in the reaction are
respectively — ‘
(A) Lactate dehydrogenase, Decarboxylase
(B) Succinyl thiokinase, Alcohol dehydrogenase
(C) Alcohol dehydrogenase, Pyruvic decarboxylase
(D) Pyruvic decarboxylase, Alcohol dehydrogense
Urebreioiry Rpvew W dree ¥ frew €, A Froatatea
arffera B ¥

WB'S&EEBTR?I A, tfefeess

“_%@HW

arfferar & A 9 B g AW € -
(A) wae e, fmmEiirmes
(B) ufrafe ariieEas, Uwnela [SeEsime
(C) Urmrei Reergiir, wEefn feweiirmis
(D) urgsiae feemEiirast, URpeld [SEEsost

When sulphuric acid reacts with egg shell, which gas
is produced?

(A) Hydrogen gas  (B) Nitrogen gas

(C) Carbon monoxide (D) Carbon dioxide gas
T GOk I, SIS % WIN & WY HAHBT HET &

ar wE B A g SO Bl & 7
(A) TESRE ™ (B) WS g
(C) e dFEs (D) Bre+ sTelieaEs g

The energy possessed by a body of mass 2 kg when
it is placed at a height of 5 m above the ground w1l<‘
be (g = 10 m/s?)

T 2 kg FEE ¥ e ¥ freEnt St @, a@ra‘@r
gl ¥ 5 m B g 9T T T E (g = 10 m/s?)
(A) 5017 (B) 10017

(€) 1501 (D) 2007

Which amohg the following are examples of diseases
caused by bacteria?

1. Leprosy % Tuberculosis
3. Diphtheria 4.  Tetanus
Choose the correct option :

(A) land2 (B) 1,2and3

(C) 2,3and 4 (D) 1,2,3and 4
P 8 § ey s T % I8 B g ¢
1. 3 W 2. &a

3. fewafen 4. femm

i Rrer P -

(A) 132 B) 1,23
(C) 2,384 (D) 1,2,38ft4

[ Contd...

Alcohol

161

160 Which of the following polymer is stored in the liver
of animals?
(A) Amylose (B) Cellulose
(C) Amylopectin (D) Glycogen
F W B G Igae Sl B agpa § i
waE?
(A) FHEEE (B) dgeig
(C) TwEaNtRS (D) TEEHET
An active ingredient in bleaching powder for
bleaching action is —
Tt fomen & g fodoss ool & fsw duew § -
(A) Ca(OCl), (B) Ca0,Cl

162

183

164

165

166

IP3

(C)y Call, (D) CaO(l

Which of the following is not a non-contact force?
(A) Magnetic force  (B) Electrostatic force
(C) Gravitational force (D) Friction force

e 8 8 B9 oo W 7y B 7
(A) g S (B) Rer dga =@
(C) TEEmHYY ga (D) =¥ W

White blood cells which have large bean shaped
nucleus and are phagocytic are —

(A) Basophils (B) Lymphocytes

(C) Eosinophils (D) Monocytes

seraY] T o9 & die A gl @ 9w e A &
qUT I B €, T8 & -

(A) SEifEw (B) wEreT

(C) sehfiem (D) TH w5 (FHETse)

When pressure is increased, the melting point of ice
(A} increases

(B) decreases

(C) remains unchanged -

(D) first decreases, then increases

T ST GRS © 1 % Bl TS

(A) wea e

(B) =

(C) wewan 78 ¥

(D) vew = ¥ fAT Sgar ¥

Which of the following does not belong to natural
polymers?

(A) Cellulose (B) Starch

(C) Rayon (D) RNA

et & @ oW o yghe wgaw W 7

&) @W (B) wrd

(©) @ (D) e Ty
Kwashiorkor disease is caused by deficiency of
(A) Protein (B) lodine

(C) Tron (D) Vitamin

FTTISHI T Reway sy & grer

(A) T (B) emadN

(©) e (smEe) (D) Faerfm

] @ 11

187

168

169

119

11

112

The highest number of atoms is present in
e ¥ waifhes dein ¥ sufee v ¥ -
(A) 4gHe (B) 46 gNa

(C) 040 ¢gCa B) 12gHe

Cell wali of algae is made up of

(A) Cellulose, Galactans and Mannans
(B) Cellulose, Hemicellulose and Proteins
(C) Cellulose, Pectin and Protein

(D) Cellulose, Peptidoglycan and Pectin

rare B B R s R ¥

(A) Ige, e g fare

(B) Iq@w, THAGES 9 Waw &
(C) e, YoM T Wiom &

(D) e, YeEErEESGT g Ve ¥

Universal blood recipient blood group has which
antigen and which antibodies respectively?

(A) No antigen and a and b antibody

(B) Antigen A and B and no antibody

(C) Antigen A and b antibody

(D) Antigen B and a antibody

Hreif3e e ST wE W Bhn B @ R T el
B8P

(A) @5 o gfre & ofiv a @ b wfereel

(B) A3 By ofk &g o ufereed =8t

(C) A wfew iR b ufereed

(D) B ufeer alT a wfaeel

Formula of Plaster of Paris is —

AR 31T Uia B ga ¥ -
i i
(A) CaSO,- 5 H0 (B) CaS0;+ 7 Hy0

1
(C) CaSO,- 3 H,0 (D) CaSO, - 2H,0

Zeroth law of thermodynamics is related to

(A) heat (B) work

(C) internal energy (D) temperature
TR @ I P et §

(A) T E (B) 1 &

(C) oalies St & (D) «oaE &

Non-membrane bound organelle found in both
eukaryotic as well as prokaryotic cell is —

(A) Microbodies (B) Lysosome

(C) Ribosome ° (D) Golgi Complex
JehTefees o MiehTiifees epifirestall & ran s o R
Teaq o & -
(A) rEISiS!
(C) e

(B) wraErE
(D) M i
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113 Neil Armstrong landed on moon for the first time in:

114

115

ii6

117

118

119

IP3 |

"is placed at a height of about :

FE?

(A) July 1969 (B) September 1969

(C) iuy 1970 (D) September 1970
T i uEel 9 g a¥ IaW 9 ¢

(A) S@E 1969 & (B) faa=x 19691?{'

(C) §ar 1970 % (D) fwemrg 1970 ¥

What is formed when zinc reacts with sodiu
hydroxide?

(A) Zinc hydroxide and sodium

(B) Sodium zincate and hydrogen gas
(C) Sodium zinc oxide and hydrogen gas
(D) Sedium zincate and water

e % Wieam TTsgioEs ¥ aifafpar BT T R

qIAT K ?

(A) i sresieaEs qu aifas -

(B) diftaw Fise gur sRge™ 9
(C) wifeaw K sfaemss qur sEnm 19
(D) wifsy R qur 9@ -

Above the surface of Earth, a geostationary satelli

gl ) TTE ¥ AT §H ST I T T SUTE /
Tty RopaT ST &

(A) 20,000 km (B) 26,000 km
(C) 30,000 km (D) 36,000 km

A car is performing circular motion with anguli
velocity 27 rad/s. Its time period will be :

s B gUHR Tfa T W ¥ Rrwer aeiy
27 rad/s ¥ SHE AT B EFN :

(A) 057 sec (B) 1 sec

(C) 0.5 sec (D) = sec

Farmers neutralize the effect of acidity on the soil
by adding —

(A) Slaked lime
(C) Caustic soda
feprm fredy wT omdaT & W Bl R

(A) g g g (B) T
(C) =it g (D) IRBT (v =)

If two resistances are of equal values 62
connected in parallel, then the equlvalent resistance’
will be :

(B) Gypsum
(D) Baking soda

oY 8 qHE 6Q%uﬁrﬁawwwﬁmmﬁ“

& Y IhT geu whrrer g
A 3Q (B) 6Q
) 9Q (D) 12Q

In Bohr's model of an atom; which of the following,

is an integral multiple of h/2n?

(A) Kinetic energy

(C) Potential energy

Ehrésmgm% %ﬂfﬁi@aﬁﬁﬁwm h/2n @1
TS & 7 :

(A) et S

(B) AT @ e

(B) Radius of an atom *» ™~
D) Angul@moﬁ‘fl?m

(C) Ruferst it (D) @l g3

120

122

125

@ - . 12

(C) T % WY N 9T

Which cells of intestinal mucosal epithelium secrete
mucus? :
(A) Chief cells (B} Goblet cells

(C) Peptic cells (D) Oxyntic cells

BT ST TUHTT BT BT TI BIBTY AT BT &

" o e s BT
(A) Fem wifird (B) Y
- (C) Ufew i (D) enfRites B

An electric fuse works on the following principle of

- (A) Chemical effect of current

{(B) Magnetic effect of current
(C)' Lighting effect of current
(D) Heating effect of current -
%%@awﬁﬂﬁ%ﬁm%@ﬂwmm%?

(A) 91T % TErERie 9HE 9
(B) @10 % gHE&HYT g9E WX

(D) o % A vEE Ul

Which of the following belongs to a homologous
series of alkynes?

frefefea & § B T @ U S9@E e ¥
T &7

(C) CH, (D) C3Hy

Which of the following has the highest mertia7

(A) Cycle (B) Scooter
(C) Car - (D) Truck
e o ¥ R wisd 99€ SUTET & 7
(A) T (B) &
(C) = (D) &

The animals have different excretory structures.
Match the excretory structures with the animals and
then choose the correct option :

Animals Excretory Structures
1. Planaria a.  Malpighian tubule
2. Earthworm b.  Green glands i
3.  Cockroach c Nephridia
4. Prawn Flame cells
aﬁaﬁﬁﬁlﬁmwﬁmmvﬂé%laﬁaﬁaﬁm
T IeS o ﬁﬁm BT T e fashed @l g&m
W R A
1. w=far a.  Sedr Tﬁ%ﬂvmq
2. 39U b.  sjfirs dRmr (e af)
3. g c. JEED
4. U= d. T i

(A) 1-b, 2-c, 3-a, 4-d (B) 1-d, 2-b, 3-a, 4-c
(©) 1-d, 2-c, 3-a, 4-b (D) 1-c, 2-a, 3-b, 4-d

Water reabsorpticn from the distal part of the renal
tubule is under the control of which hormone?
(A) Oxytocin (B) Angiotensin
(C) Renin (D) Vasopressin
TJeeh STieh! oh QiferT T H W Wl GATEN 69
% Pt 3 ST R ‘
(A) SR (B) dfaiRRm
(OIEGE (D) =R
[ Contd...

12¢ Which of the following is not a problem faced by

127

128

- (A) Metacognitive factors

129

IP3 ]

teachers in India?

(A) Traditional curriculum and teaching methods

(B) Lack of feedback mechanism

(C) Unhealthy financial conditions of institutions

(D) Positive attitude of management towards
development of material resources

Frefoes & 9 fve wem o wmer T Rree o]

FET BT T 7

(A) urtalies wrsmsme o e fafrat
(B) wirgRe = & & ’

(C) g = wawi i Rufy

(D) Wwa@r%%m&%ﬁmwww

HBTTHS %5%351:;'“! Ll

"Teachmg strategies should help students to acqulre

new elements in their cognmve structure" This is
learning view of
(A) Behaviourists
) Cognitivists

(B) Objectivists
(D) Constructivists

Waﬁmaﬂ%ﬁwﬁaﬁ%aﬁw%mw

&1 T

(A) =EERER! (B) a@ﬁwﬁf

(C) weIEe (D) Ty

Most students with mild to moderate disabilities hav

factors that impede learning.

(B) Motor factors
(C) Social factors
(D) Cognitive factors

W%”mﬁwmmﬁmﬂwa%_;

BT HrE ¥ a1 sy ¥
(A) TSI B
(B) FraTeTes B

(C) =M Bt

(D) €sATHS SHIH

Advantage of using ppt in teaching mathematics is

(A) Presenting outlines of information in a
sequential manner

B)

perception
(C) Facilitates effective way of communication
(D) Choose to create your own design or use.
existing one
T e ¥ ppt & wdET @ @ &
(A) wHeg Tlh W ST B BT & B
(B) arfasmar ol 4ron & 9 981 i a9
(C) ¥ @ yrel s & gleen &
(D) SO Ga bl RO 1T A1 HISar ol SUERT &

@ | 13

Create a huge gap between. reality and"

139 Mathematical magazine

(A) is a publication for maths teachers.
{B) a collection of problems of mathematics.
(C) provide context for theorem - proof.

(D) focuses explicitly on mathematics rather :
than pedagogy.

i e ¥

(A) vt et % RIQ wE TebIeR
(B) W % wart w1 ww wE
(C) Wi yifre & & fg wesh

(D) Trenymes % SO W wY § ARG T
%&am%a

In science class, after watching an educational
programme on T.V,, teacher have a lively discussion
over the learning objectives. Which of the following
principle is used here for effective use of teaching
aids?

(A) Principle of Preparation

(B)- Principle of Proper Presentation

(C) Principle of follow up and evaluation

(D) Principle of Selection

T &7 wan % A W e wedmw Re ¥ e
Treres arferm Sl ux e < @t ¥ R were
Tl % GHTE AT & e gef frafaRe ¥ @ e
Tergra @1 wuanT fpm e & 7

(A) Trafor o fogr

(B) TUERT FTEIRHT BT Rgrer
(C) oyt wd qeate @ fagra
D) W?ﬂﬁ?@ﬁ

Wthh of the following is not the merit of Proble
Solving method?

(A) Time saving method

(B) Learner-centered method

(C) Helps in development of scientific attitude
(D) Training in scientific method

fr=rfefan & & @ a1 T guyE fafy e o
TR

(A) T B a9

(B) femeit—haa fafy _

() i ghem % R § wEs

(D) s faftr & wiyre
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After diagnostic testing, it was found that Meenal is
facing learning difficulties due to the lack of interest
and non availability of direct experiences. In this case,
which form of remedial teaching should be adopted?

 (A) Class Teaching

134

(B) Individual Tutorial Teaching

(C) Informal Teaching

(D) Auto-Instructional Teaching -
ﬁaﬁmwuﬁm%usamaawwﬁwﬂwaﬁ@r@%
¥ HSTE EF B B TN BT B 9T GAT TodH
ST Bl AT &1 Uy Rufy ¥ swmrces fre
% fpg ®U @Y STUFRT ST @R ?

(A) e fareroy

(B) efrrta =i Reror.

(C) rmaTs e '

(D) @IS faray

In day to day life, different people observing the same
event but report it differently because of the different
world view. Which type of constructivism is this?
(A) Social Constructivism

(B) Radical Constructivism

(C) Cultural Constructivism

(D) Cogmtlve Constructivism

. e Hew 9, m~mwﬁﬁ®€rmﬁ%@ﬁ%

135

IP3 ]

after gt frare, faga—she ¥ Rrear €9 & @,
HAT—E TP § IR B &1 T8 fpe us &0
TEEE ¥ 7 '

(A) TR TEAEE

(B) Hiferss awmang

(C) wiephas T@ER

(D) WITHeD TS

What type of test are used to judge the students'
language expression ability and organizational
ability?

(A) Obijective type test -

(B) Essay type test

(C) Short answer type test

(D) Oral test

Rren il %1 o R ST & HISAEHD a‘lTa?n

1 Ul T b T o webre o vt ot SwainT R |

AR ?

(A) aEghTs Tl
(B) Traremerss T

(C) AgaUEH TUET

(D) “ifgs gderm

136 Match List-I with List-IT and select the correct answer

137

138

@ | 14

by choosing from the codes given below :
List-I {Authors) List-iI (Concepts)

a. Burt and Vernon 1. General and specific
factors
b. Spearman 2. Hierarchical theory of
. Intelligence
c. Gardner 3. Triarchic theory of

Intelligence

d. Sternberg 4. Multiple intelligence
theory
-1 &1 qEl-1 ¥ gafea g @on 9 o T g
1 S BT U TEI TAT 1 TG BRI
-1 (wEw) -1 (aers)
a. FW-TAT 1w qu fasiy s
b. R 2. ghg & TEImNS e
c. TER 3. gfe @ gt Rrar
d. wHe 4. wgghe faera
Code / %2 :

(A) a1, b-3, ¢4, d-2
(C) a3, b4, c2, d-1

A child's development affects by ~
(A) Only Heredity

(B) Only Environment

(C) Only Culture

(D) Both Heredity and Environment
T BT fereprer ywIfer ehem & —

(A) Haq STEfTmar ¥

(B) a-2, b-1, c-4, d-3
(D) a-4, b-3, ¢-2, d-1

- (B) %aw grarEer 9

(C) ew depla A

(D) STEEaT Td @R & 4

Formula of Educational Quotient is
Mental Age

Chrenological Age

x100

(A)

x100 -

(B) Educational Age

Chronelogical Age
Mental Age

(©) x100

* Educational Age <100

(D) Chronological Age
Siferes @ 31a H & gH T ~

[ Contd...
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Mental Age {
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"A teacher taught in classroom an example that plural
of House is Houses, with this learning student make
plural of Mouse as Mouses". This example is related
with what type of transfer of learning?

(A) Positive transfer (B) WNegative transfer

(C) Bilateral transfer (D) Zero transfer

U HETE W wmET H ver f5 ETed @ ggauw
TR 5O A ¥ foendt ¥ 9w @ gawe

146

141

142

i43
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IP3 ]

XTGBT TEET &P
(A) IS WIFFLT (B)  SHOTHS W0
(C) TEwiess Trmm=acer (D) 97 Tl

Which is not the element of creativity?

(A) Fluency (B) Flexibility

(C) Originality (D) Memorisings
FreAfaRad o ¥ B 91 goTcTHal Bl de T8 &7

(&) arayEtEd (B) wEETYE

(Cy =ifeesar (D) wfereptm

All human.contains chromosomes.
whama ¥ qomgm AR ¥

(A) 22 (B) 44

() 23 (D) 46

In which primary law of Thorndike, property of trial
and error is demonstrated?

(A) Law of Readiness (B) Law of Exercise

(C) Law of Effect (D) Law of Satisfaction
aFeES % HF ¥ waftes faw ¥ dew @ yae wd
e fafy = =rem & g ¥ ?

(A) O & FEw (B) onarg @i fram

(C) wurE & Frw (D) € @

Operant conditioning mainly emphasises on the
role of

(A) the learning material

(B) the teacher

(C) the environment

(D) the reinforcement

foren wg@ geaa: feraer it 9X o@ ar ¥ 7
(A) sifem wmedt

(B) fetemes

(C) arargeer

(D) e

Who gave 'Mental Age' concept?

{A) Binet (B) Thorndike

(C) Caitle (D) Stern
RIS AR T ey -
(A) W (B) afew® 7
(C) ¥za D) =¥
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Which of the following is the direct method of
adjustment?

(A) Regression (B) Substitution of Goals
(C) Repression (D) Projection

Frafafaa & @ B W Twmiem & gow aiwm § 7
(A) wRFmes (B) =i & wferenue

(C) =% (D) waror

Connection to the internet using a phone line and a

modem is called connection.

(A) Fiber optic

(B) Dish

(C) Digital

(D) dial up

ﬁﬁm@tﬁ%ﬂﬁwﬁmaﬁamw
HEwTT T

(A) RS aiffess (Fiber optic)

(B) f&31 (Dish)

(C) Rfaes (Digital)

(D) s@ A9 (dial up)

Which of the following e-wallet app is offered by
HDFC?

(A) Paytm (B) BHIM

(C) PayZapp (B) PhonePe _
Frafafaa & @ S o1 3-afee T7 Tadusmd g gt
fopar mar %7

(A) U2y (Paytm)
(C) ustu (PayZapp)

(\kB) o (BHIM)
(D) ®=Y (PhonePe)

Bitcoin wallet was released in :

feemigT afe ¥ @y femam )
(A) 2009 (B) 2011

€y 2012 (D) 2014

In mathematical term Table is referred as :
{A) Relation (B) Domain

(C) Attribute (D) Tuple

T e & arferer (Table) weamy § ¢
(A) frmm (B) sf=

(©) diesgz (D) <uw

When data is transmitted from device A to device B,
the header from A layer 5is read by B's

layer.

(A) Session

(B) Physical

(C) Presentation

(D) Transport

S ¥ fsaE A @ B @l duiia fean smar @ @ dsw
A ¥ 591 wqe § oar § e B @ B
T BT

(A) 9 (Session)

(B) Refieer (Physical)

(C) USr9™ (Presentation)

(D) EFEUe (Transport)
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